BA: A

BHel: AE - 3T fdacidd

=
B M MR BE(2A/NBYY

Of

=

)

2A-F3H-02A(3A) - NREAY - BES Off &2t I N Hinsz
AlZolor 5,459,771 5,442,771 17,000
= 2,576,764 2,576,764 0
X 18,715 18,715 0
& 2,864,292 2,847,292 17,000
HdA AM23 Ha(22H/ABA0tH) 4,643,209 4,626,209 17,000
= 2,150,764 2,150,764 0
X 18,715 18,715 0
=S 2,473,730 2,456,730 17,000
AE - 3T flYgaeAE 4,643,209 4,626,209 17,000
= 2,150,764 2,150,764 0
X 18,715 18,715 0
& 2,473,730 2,456,730 17,000
SEAMAHA =FE4 20,000 13,000 7,000
307 @120l 0 13,000 213,000
02 QIZHAMAMYE R 0 13,000 A 18,000
onEJislis XA 0 13,000 213,000
308 XX EHMSOIA 20,000 0 20,000
01 HXSHHBMEES 20,000 0 20,000
onEJlistis XA 20,000 0 20,000
Algolotl = X A= 10,000 0 10,000
202 o1l 10,000 0 10,000
01 SLHOI B 10,000 0 10,000
O3 HTX A= 10,000 0 10,000
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